			struction Co., nc.	R.G. Huston Company, Inc.	Joe Daniels Construction	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.
ltem	Quantity	Price	Extension	Price	Price	Price	Price
Section B: Proposal Page							
10701.0 - TRAFFIC CONTROL - LUMP SUM	1.00	\$5,400.00	\$5,400.00	\$6,200.00	\$6,000.00	\$5,500.00	\$5,200.00
10801.0 - ROOT CUTTING - CURB AND GUTTER(UNDISTRIBUTED) - L.F.	100.00	\$12.75	\$1,275.00	\$14.50	\$10.00	\$12.00	\$6.00
10802.0 - ROOT CUTTING - SIDEWALK(UNDISTRIBUTED) - L.F.	100.00	\$12.75	\$1,275.00	\$14.50	\$10.00	\$12.00	\$6.00
10911.0 - MOBILIZATION - LUMP SUM 20101.0 - EXCAVATION CUT - C.Y.	1.00 4950.00	\$16,000.00 \$14.50	\$16,000.00 \$71,775.00	\$13,650.00 \$18.80	\$90,000.00 \$16.50	\$62,000.00 \$20.09	\$8,000.00 \$20.00
20219.0 - BREAKER RUN - TON 20221.0 - TOPSOIL - S.Y.	1100.00 2250.00	\$7.40 \$4.10	\$8,140.00 \$9,225.00	\$12.30 \$5.75	\$13.50 \$4.55	\$11.00 \$3.90	\$13.00 \$4.00
20303.0 - SAWCUT BITUMINOUS PAVEMENT - L.F.	270.00	\$2.60	\$702.00	\$3.00	\$3.00	\$2.00	\$1.75
20322.0 - REMOVE CONCRETE CURB & GUTTER - L.F.	4300.00	\$3.00	\$12,900.00	\$4.20	\$3.50	\$2.71	\$3.50
20323.0 - REMOVE CONCRETE SIDEWALK & DRIVE - S.F.	14600.00	\$1.60	\$23,360.00	\$1.55	\$1.10	\$1.13	\$1.50
20401.0 - CLEARING (UNDISTRIBUTED) - I.D.	30.00	\$25.00	\$750.00	\$25.00	\$26.75	\$30.00	\$35.00
20403.0 - GRUBBING - I.D. 20701.0 - TERRACE SEEDING - S.Y.	251.00 2250.00	\$25.00 \$1.30	\$6,275.00 \$2,925.00	\$25.00 \$1.25	\$26.75 \$1.50	\$25.00 \$1.50	\$25.00 \$1.25
21061.0 - EROSION MATTING, CLASS I, URBAN TYPE A - S.Y.	2250.00	\$1.40	\$3,150.00	\$1.40	\$1.60	\$1.80	\$1.40
30201.0 - TYPE "A" CONCRETE CURB & GUTTER - L.F.	2350.00	\$13.25	\$31,137.50	\$12.00	\$13.90	\$13.60	\$16.00
30208.0 - HAND FORMED CONCRETE CURB & GUTTER - L.F.	1950.00	\$23.00	\$44,850.00	\$22.75	\$25.70	\$24.60	\$16.00
30301.0 - 5" CONCRETE SIDEWALK - S.F.	8200.00	\$3.80	\$31,160.00	\$4.20	\$4.75	\$4.70	\$4.25

BID OPENING DATE: MARCH 28, 2014				R.G. Huston		Capitol	Speedway
			struction Co., Inc.	Company, Inc.	Joe Daniels Construction	Underground, Inc.	Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
30302.0 - 7 INCH CONCRETE SIDEWALK & DRIVE - S.F. 30340.0 - CURB RAMP DETECTABLE	6400.00	\$4.20	\$26,880.00	\$4.40	\$4.90	\$4.92	\$5.00
WARNING FIELD - S.F.	168.00	\$43.50	\$7,308.00	\$25.00	\$26.75	\$25.00	\$40.00
40102.0 - CRUSHED AGGREGATE BASE COURSE, GRADATION 2 OR 3 - TON	4935.00	\$13.50	\$66,622.50	\$14.00	\$14.00	\$14.23	\$15.00
40201.0 - HMA PAVEMENT, TYPE E-0.3 - TON	1730.00	\$62.00	\$107,260.00	\$59.95	\$64.50	\$59.95	\$59.95
40211.0 - TACK COAT - GAL.	415.00	\$2.10	\$871.50	\$2.00	\$3.00	\$2.00	\$2.00
40231.0 - ASPHALT DRIVE & TERRACE (UNDISTRIBUTED) - S.Y.	50.00	\$38.00	\$1,900.00	\$47.00	\$39.50	\$45.72	\$56.90
60812 - PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH - L.F.	650.00	\$5.10	\$3,315.00	\$4.90	\$10.25	\$4.90	\$4.90
60818 - PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH - L.F.	75.00	\$10.25	\$768.75	\$10.00	\$15.00	\$10.00	\$10.00
60822 - PAVEMENT MARKING EPOXY, SYMBOL, BIKE SHARROW - EACH	26.00	\$170.00	\$4,420.00	\$169.00	\$102.00	\$169.00	\$169.00
40410.0 - CONCRETE SPEED HUMP - S.Y.	150.00	\$71.00	\$10,650.00	\$63.00	\$75.00	\$70.00	\$75.00
20217.0 - CLEAR STONE - TON	535.00	\$11.00	\$5,885.00	\$10.40	\$17.50	\$5.04	\$12.00
20312.0 - REMOVE CATCHBASIN - EACH	5.00	\$460.00	\$2,300.00	\$405.00	\$750.00	\$384.00	\$475.00
20313.0 - REMOVE INLET - EACH	14.00	\$460.00	\$6,440.00	\$270.00	\$300.00	\$378.00	\$350.00
21001.0 - EROSION CONTROL PLAN & IMPLEMENTATION - LUMP SUM	1.00	\$1,300.00	\$1,300.00	\$1,550.00	\$1,000.00	\$2,790.00	\$500.00
21002.0 - EROSION CONTROL INSPECTION - EACH	16.00	\$410.00	\$6,560.00	\$400.00	\$400.00	\$300.00	\$400.00

BID OPENING DATE: MARCH 20, 2014						Conital	Creative
			struction Co., nc.	R.G. Huston Company, Inc.	Joe Daniels Construction	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
21011.0 - CONSTRUCTION ENTRANCE - EACH	5.00	\$130.00	\$650.00	\$480.00	\$375.00	\$228.00	\$150.00
21012.0 - STREET CONSTRUCTION ENTRANCE BERM - EACH	3.00	\$130.00	\$390.00	\$480.00	\$500.00	\$270.00	\$150.00
21013.0 - STREET SWEEPING - LUMP SUM	1.00	\$5,100.00	\$5,100.00	\$1,350.00	\$2,750.00	\$4,400.00	\$1,000.00
21015.0 - STREET CONSTRUCTION STONE BERM - EACH	7.00	\$130.00	\$910.00	\$480.00	\$250.00	\$210.00	\$150.00
21032.0 - INLET PROTECTION TYPE C MODIFIED - PROVIDE & INSTALL - EACH	17.00	\$88.00	\$1,496.00	\$85.00	\$85.00	\$79.20	\$85.00
21033.0 - INLET PROTECTION TYPE C MODIFIED - MAINTAIN - EACH	34.00	\$67.00	\$2,278.00	\$65.00	\$65.00	\$15.00	\$65.00
21034.0 - INLET PROTECTION TYPE C MODIFIED - REMOVE - EACH	17.00	\$25.75	\$437.75	\$25.00	\$25.00	\$25.20	\$25.00
21056.0 - INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL - EACH	26.00	\$160.00	\$4,160.00	\$160.00	\$160.00	\$150.00	\$160.00
21057.0 - INLET PROTECTION TYPE D HYBRID - MAINTAIN - EACH	52.00	\$67.00	\$3,484.00	\$65.00	\$65.00	\$20.40	\$65.00
21058.0 - INLET PROTECTION TYPE D HYBRID - REMOVE - EACH	26.00	\$25.75	\$669.50	\$25.00	\$25.00	\$25.20	\$25.00
50411.0 - 12 INCH RCP STORM SEWER PIPE - L.F.	777.00	\$49.50	\$38,461.50	\$75.00	\$58.60	\$55.12	\$70.00
50741.0 - TYPE "H" INLET - EACH 10702.0 - TRAFFIC CONTROL FOR	16.00	\$1,800.00	\$28,800.00	\$1,645.00	\$1,650.00	\$1,423.19	\$1,800.00
STORM SEWER INSTALLATION - LUMP SUM	1.00	\$1,500.00	\$1,500.00	\$1,425.00	\$1,525.00	\$1,425.00	\$1,425.00
10912.0 - MOBILIZATION FOR STORM SEWER INSTALLATION - LUMP SUM	1.00	\$2,500.00	\$2,500.00	\$2,470.00	\$1,000.00	\$32,600.00	\$5,000.00

BID OPENING DATE: MARCH 28, 2014		Pariai Conc	struction Co.,	R.G. Huston Company,	Joe Daniels	Capitol Underground,	Speedway Sand &
			nc.	Inc.	Construction	Inc.	Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
20335.0 - ABANDON SEWER PIPE WITH SLURRY - CY	11.00	\$340.00	\$3,740.00	\$280.00	\$275.00	\$326.45	\$250.00
50211.0 - SELECT BACKFILL FOR STORM SEWER - T.F.	832.50	\$1.00	\$832.50	\$0.01	\$1.00	\$0.10	\$0.25
50412.0 - 15 INCH RCP STORM SEWER PIPE - L.F.	33.50	\$57.00	\$1,909.50	\$71.80	\$60.80	\$58.98	\$72.00
50723.0 - 3'X3' STORM SAS - EACH	3.00	\$2,200.00	\$6,600.00	\$1,985.00	\$2,250.00	\$2,599.02	\$2,100.00
50794.0 - PRIVATE STORM CONNECTION, TYPE II - EACH	1.00	\$2,000.00	\$2,000.00	\$1,570.00	\$975.00	\$1,920.00	\$1,900.00
50904.0 - FURNISH AND INSTALL CIPP TO REHABILITATE 12-INCH DIAMETER STORM SEWER MAINS - L.F.	737.00	\$56.00	\$41,272.00	\$50.00	\$38.00	\$35.00	\$35.00
90030.0 - 12" RCP FIELD BEND - EACH	1.00	\$1,200.00	\$1,200.00	\$730.00	\$1,000.00	\$671.81	\$850.00
90031.0 - 8 INCH STORM SEWER PIPE (C900) - L.F.	22.00	\$66.00	\$1,452.00	\$73.00	\$56.00	\$78.21	\$68.00
50722.0 - 6'X6' CATCHBASIN - EACH	5.00	\$4,200.00	\$21,000.00	\$6,950.00	\$8,250.00	\$5,144.14	\$4,000.00
21110.0 - TERRACE RAIN GARDEN - S.F.	400.00	\$27.00	\$10,800.00	\$11.50	\$28.00	\$10.15	\$7.00
10704.0 - TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION - LUMP SUM	1.00	\$700.00	\$700.00	\$1,375.00	\$1,000.00	\$1,375.00	\$1,375.00
10914.0 - MOBILIZATION FOR SANITARY SEWER INSTALLATION - LUMP SUM	1.00	\$17,500.00	\$17,500.00	\$2,470.00	\$4,000.00	\$87,200.00	\$10,000.00
20501.0 - ADJUST SEWER ACCESS STRUCTURE - EACH	1.00	\$300.00	\$300.00	\$405.00	\$350.00	\$210.00	\$450.00
50103.0 - RECONSTRUCT BENCH AND FLOWLINE(S) - EACH	3.00	\$1,000.00	\$3,000.00	\$535.00	\$1,500.00	\$1,043.50	\$1,200.00

BID OPENING DATE: MARCH 26, 2014				R.G. Huston		Capitol	Speedway
		Parisi Con	struction Co.,	Company,	Joe Daniels	Underground,	Sand &
		I	Inc.	Inc.	Construction	Inc.	Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
50201.0 - ROCK EXCAVATION (UNDISTRIBUTED) - C.Y.	40.00	\$31.00	\$1,240.00	\$10.00	\$85.00	\$96.00	\$90.00
50212.0 - SELECT BACKFILL SANITARY SEWER - T.F.	5215.00	\$1.00	\$5,215.00	\$0.01	\$1.00	\$0.10	\$0.50
50225.1 - UTILITY TRENCH PATCH TYPE III - T.F.	66.00	\$34.00	\$2,244.00	\$78.00	\$60.00	\$98.72	\$50.00
50301.0 - 8" PVC SANITARY SEWER PIPE (SDR 35, SDR 26) - L.F.	2681.00	\$83.00	\$222,523.00	\$104.25	\$97.16	\$75.62	\$148.00
50321.0 - 8" PVC PRESSURE SANITARY SEWER PIPE - L.F.	475.00	\$90.00	\$42,750.00	\$112.65	\$102.85	\$95.88	\$175.00
50353.0 - SANITARY SEWER LATERAL (SDR 35, SDR 26) - L.F.	1825.00	\$13.00	\$23,725.00	\$20.00	\$64.00	\$30.87	\$70.00
50354.0 - RECONNECT SANITARY SEWER LATERAL - EACH	79.00	\$2,100.00	\$165,900.00	\$1,520.00	\$1,280.00	\$2,229.76	\$1,500.00
50361.0 - WASTEWATER CONTROL - EACH	1.00	\$5,100.00	\$5,100.00	\$12,050.00	\$5,000.00	\$3,480.00	\$3,500.00
50390.0 - SEWER ELECTRONIC MARKERS - EACH	175.00	\$39.50	\$6,912.50	\$42.00	\$25.00	\$18.00	\$30.00
50701.0 - 4' DIA. SANITARY SAS - EACH	18.00	\$3,100.00	\$55,800.00	\$2,385.00	\$2,654.00	\$2,496.41	\$3,600.00
50781.0 - 8" SANITARY SEWER OUTSIDE DROP - V.F.	9.50	\$400.00	\$3,800.00	\$278.00	\$350.00	\$317.52	\$500.00
50791.0 - SANITARY SEWER TAP - EACH	8.00	\$1,700.00	\$13,600.00	\$905.00	\$1,000.00	\$895.92	\$1,100.00
90070.0 - SANITARY SEWER LATERAL (PRESSURE) - L.F. 10703.0 - TRAFFIC CONTROL FOR	234.00	\$15.00	\$3,510.00	\$26.00	\$74.90	\$35.57	\$60.00
WATER MAIN INSTALLATION - LUMP SUM	1.00	\$1,400.00	\$1,400.00	\$675.00	\$1,475.00	\$675.00	\$675.00

BID OPENING DATE: MARCH 28, 2014				R.G. Huston		Conital	Speedway
		I	struction Co., nc.	Company, Inc.	Joe Daniels Construction	Capitol Underground, Inc.	Speedway Sand & Gravel Inc.
ltem	Quantity	Price	Extension	Price	Price	Price	Price
10913.0 - MOBILIZATION FOR WATER MAIN INSTALLATION - LUMP SUM	1.00	\$45,000.00	\$45,000.00	\$2,470.00	\$2,000.00	\$58,400.00	\$15,000.00
50226.0 - UTILITY TRENCH PATCH TYPE III - S.Y.	90.00	\$44.50	\$4,005.00	\$48.00	\$60.00	\$73.81	\$50.00
70001.0 - FURNISH AND INSTALL 4 INCH PIPE & FITTINGS - L.F.	25.00	\$95.00	\$2,375.00	\$178.00	\$125.00	\$92.05	\$131.00
70002.0 - FURNISH AND INSTALL 6 INCH	100.00	\$98.00	\$9,800.00	\$101.00	\$128.00	\$91.86	\$125.00
PIPE & FITTINGS - L.F. 70003.0 - FURNISH AND INSTALL 8 INCH PIPE & FITTINGS - L.F.	3775.00	\$74.00	\$279,350.00	\$102.50	\$89.75	\$92.97	\$125.00
70030.0 - FURNISH AND INSTALL 4-INCH WATER VALVE - EACH	2.00	\$1,700.00	\$3,400.00	\$1,085.00	\$1,025.00	\$1,136.69	\$2,000.00
70031.0 - FURNISH AND INSTALL 6-INCH WATER VALVE - EACH	8.00	\$1,900.00	\$15,200.00	\$1,255.00	\$1,225.00	\$1,341.54	\$2,500.00
70032.0 - FURNISH AND INSTALL 8-INCH WATER VALVE - EACH	18.00	\$2,300.00	\$41,400.00	\$1,685.00	\$1,675.00	\$1,774.51	\$3,000.00
70040.0 - FURNISH AND INSTALL HYDRANT - EACH	5.00	\$3,600.00	\$18,000.00	\$3,140.00	\$3,725.00	\$3,706.88	\$4,000.00
70053.0 - REPLACE 1-INCH SERVICE LATERAL - L.F.	80.00	\$120.00	\$9,600.00	\$104.60	\$80.00	\$88.80	\$100.00
70056.0 - EXTEND AND RECONNECT 1- INCH SERVICE LATERAL - L.F.	200.00	\$140.00	\$28,000.00	\$200.70	\$90.00	\$110.56	\$95.00
70057.0 - EXTEND AND RECONNECT 1 ½-INCH SERVICE LATERAL - L.F.	6.00	\$280.00	\$1,680.00	\$324.20	\$225.00	\$254.48	\$165.00
70058.0 - EXTEND AND RECONNECT 2- INCH SERVICE LATERAL - L.F.	6.00	\$330.00	\$1,980.00	\$355.70	\$265.00	\$297.24	\$200.00
70059.0 - DISCONNECT / RECONNECT 1- INCH SERVICE LATERAL - EACH	39.00	\$720.00	\$28,080.00	\$814.00	\$675.00	\$617.25	\$900.00

BID OPENING DATE: MARCH 28, 2014				R.G. Huston		Capitol	Speedway
		Parisi Construction Co., Inc.		Company, Inc.	Joe Daniels Construction	Underground, Inc.	Sand & Gravel Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price
70060.0 - DISCONNECT / RECONNECT 1 ½-INCH SERVICE LATERAL - EACH	1.00	\$1,900.00	\$1,900.00	\$1,150.00	\$1,200.00	\$1,213.47	\$1,500.00
70061.0 - DISCONNECT / RECONNECT 2- INCH SERVICE LATERAL - EACH	1.00	\$2,000.00	\$2,000.00	\$1,310.00	\$1,580.00	\$1,484.85	\$1,800.00
70070.0 - SELECT FILL - SAND FOR WATER - L.F.	4000.00	\$1.00	\$4,000.00	\$0.01	\$1.00	\$0.10	\$0.10
70080.0 - CUT-IN OR CONNECT TO EXISTING WATER SYSTEM - EACH	11.00	\$1,700.00	\$18,700.00	\$1,670.00	\$2,650.00	\$2,280.39	\$3,000.00
70081.0 - FURNISH EXCAVATION AND DITCH FOR LIVE TAP - EACH	1.00	\$2,500.00	\$2,500.00	\$720.00	\$1,000.00	\$1,708.53	\$1,700.00
70082.0 - CUT OFF EXISTING WATER MAIN - EACH	4.00	\$1,700.00	\$6,800.00	\$885.00	\$1,450.00	\$1,380.64	\$3,000.00
70090.0 - ABANDON WATER VALVE BOX - EACH	14.00	\$260.00	\$3,640.00	\$130.00	\$100.00	\$159.26	\$250.00
70091.0 - ABANDON HYDRANT - EACH	6.00	\$420.00	\$2,520.00	\$575.00	\$425.00	\$364.76	\$500.00
70092.0 - ABANDON WATER VALVE ACCESS STRUCTURE - EACH	1.00	\$440.00	\$440.00	\$470.00	\$550.00	\$337.79	\$400.00
70101.0 - FURNISH AND INSTALL STYROFOAM - L.F.	112.00	\$20.50	\$2,296.00	\$11.80	\$10.00	\$9.69	\$12.00
70106.0 - ROCK EXCAVATION - C.Y.	30.00	\$31.00	\$930.00	\$10.00	\$85.00	\$96.00	\$85.00
20311.0 - REMOVE SEWER ACCESS STRUCTURE - EACH	19.00	\$440.00	\$8,360.00	\$460.00	\$500.00	\$471.48	\$450.00
20314.0 - REMOVE PIPE - L.F.	662.00	\$16.75	\$11,088.50	\$7.00	\$20.00	\$21.57	\$20.00
20336 - PIPE PLUG - EACH	14.00	\$64.00	\$896.00	\$195.00	\$250.00	\$349.43	\$350.00
50801 - UTILITY LINE OPENING - EACH	12.00	\$650.00	\$7,800.00	\$440.00	\$450.00	\$570.00	\$500.00
TOTALS			\$1,841,383.00	\$1,934,808.28	\$2,026,084.31	\$2,070,717.54	\$2,337,248.13